Chapter 13 Section 4 Answers: Page 731 - 733
1. image

2. 3 units right and 7 units down
- 1 -

3. 3 units left and 4 units down

4. 5 units right and 3 units up

5. D’(-3, -7), E’(-4, 3), F’(1, -3)

6. 3 units right and 4 units up

7. 5 units left

8. graph     P’(-4, -2), Q’(2, -2), R’(2, -5)

9. graph     A’(-6, -3), B’(-7, 2), C’(-5, 1), D’(-5, -3)

10. graph     J’(-6, 2), K’(-5, 1), L’(-2, 1), M’(-2, -2), N’(-3, -4)

11. Sample answer: For the y-coordinates, the translation is y – 4, which means that 4 should be subtracted from the original y-coordinates instead of added. The correct image points are A’(-1, -6) and B’(5, -1).

12. a) (x,y) → (x + 4, y)    b) (x,y) → (x + 4, y)    c) graph

13. Yes     graph

14. No, Sample answer: A tessellation cannot be created from the given shape without flipping or turning the figure.

15. Yes    graph

16. a-b) graph   c) Translate ABC to A”B”C” 2 units left and 8 units down

17. (x, y) → (x + 3, y – 5). Sample answer: To translate from the image to the original figure, you must “undo” the original translation. Since the original move was 3 units left, the new move is 3 units right. Since the original move was 5 units up, the new move is 5 units down.

18. Yes. Sample answer: Begin with (2, -7). Applying (x, y) → (x – 3, y – 4) gives (-1, -11). Then applying (x, y) → (x + 2, y – 6) to (-1, -11) gives (1, -17). If instead you first apply (x, y) → (x + 2, y – 6) to (2, -7), you get (4, -13). Then applying (x, y) → (x – 3, y – 4) to (4, -13) gives (1, -17), which is the same result.

19. a) h ≈ 129.9 ft, v = 75 ft      b) about 129.9 feet right and 75 feet down.

20. (x, y) → (x + 5.5, y + 4.5)

21. 24

22. -60

23. -36

24. 4 units

25. √74 units

26. √41 units

27. 140°

28. D

29. G

Chapter 13 Section 5 Answers: Page 736 – 738

1. Quadrant IV

2. 2 lines of symmetry

3. yes; y-axis

4. no

5. yes, x-axis

6. graph   A’(5, -1), B’(4,3), C’(0, 2)

7. Sample answer: For a reflection in the x-axis, the y-coordinate is multiplied by -1. The translation shown is a reflection in the y-axis, in which the x-coordinate is multiplied by -1. The correct image points are A’(-2, -1) and B’(3, -6).

8. yes; x-axis

9. yes; y-axis

10. no

11. graph    A’(1, 2), B’(3, 1), C’(4, 4)

12. D’(-1, 7), E’(-6, 8), F’(-5, 4), G’(-2, 2)

13. J’(6, 4), K’(4, 7), L’(3, 8), M’(0, 5), N’(1, 2)

14. 1 line of symmetry

15. 2 lines of symmetry

16. no lines of symmetry

17. a) table: 5, 6, 8 and graph b) They are the same  c) 28 lines of symmetry

18.  graph   A”(-3, 1), B”(0, 1), C”(1, 3), D”(-2, 3)

19.  graph    E”(4, -1), F”(4, 3), G”(1, 2)

20. a) graph A”(5, -4), B”(1, -3), C”(2, -1)  b) graph  D”(0, 4), E”(-3, 1), F”(-6, 6)   c) (x,y) → (-x, -y)

21. a and b graph

22. graph

23. Sample answer: They are alike in that both are lines of reflection. They are different in that a line of symmetry has the special property that it reflects a figure back onto itself so that the image and the original look exactly the same.

24. a) y = 2x + 1  b) graph and y = -2x + 1  c) The slopes are opposites. The y-intercepts are the same.

25. 71, -71

26. 45, 45

27. 100, 100

28. 265, -265

29. 66

30. 24

	6
	8
	10

	60°, 120°, 180°
	45°, 90°, 135°, 180°
	36°, 72°, 108°, 144°, 180°


31. 90

32. 60

33. graph; J’(-6, -2), K’(-3, -2), L’(-3, -7)

34. A

35. graph; apply the transformation (x,y) → (x, -y). That is, keep the original x-coordinates, but multiply the y-coordinates by -1.

Chapter 13 Section 6 Answers: Pages 744 – 746

1. Sample answer: In line symmetry, the image that fits exactly on the original figure is formed by reflecting, or flipping, the figure in a line that passes through the center of the figure, while in rotational symmetry the image is formed by turning the original figure a certain angle measure around its center.

2. (x, y) → (-y, x)

3. Yes; 180° in either direction

4. Yes; 90° clockwise

5. No

6. graph; A’(2, -3), B’(1, -5), C’(4, -6)

7. Sample answer: For a 90° clockwise rotation, the coordinate is (x, y) → (y, -x), the transformation shown is (x, y) → (-y, x), which represents a 90° counterclockwise rotation. The correct image points are A’(-5, -3), B’(-4, -2), and C’(-1, -4)

8. No

9. Yes; 180° in either direction

10. Yes; 90° clockwise

11. Graph A’(-3, 1), B’(-6, 5), C’(-3, 5)

12. Graph P’(2, 6), Q’(4, 3), R’(3, 1), S’(0, 5)

13. Graph J’(-2, 1), K’(-4, 1), L’(-4, 5), M’(-3, 6), N’(-2, 5)

14. No

15. Yes; 90° and 180° in either direction

16. Yes; 180° in either direction

17. a) Yes. Sample answer: Each rotation of 72° will produce an image that firs the original    b)144°

18. a) Graph J”(5, -6), K”(3, -4), L”(3, -2)  b) (x, y) → (-y, x)

19. a)Table:

            b) It is twice the number of angles of rotation

            c) sides: 16; angles of rotation: 22.5°, 45°, 67.5°, 90°, 112.5°, 135°, 157.5°, 180°

20. Graph: A”(-4, -4), B”(-2, -4), C”(-1, -1), D”(-3, -1)

21. Graph: A”(4, -4), B”(4, -2), C”(1, -1), D”(1, -3)

22. Graph: A”(-1, 0), B”(-1, 2), C”(2, 3), D”(2, 1)

23. Graph

24. (3, -2), (1, 0), (4, 3)

25. 75 mi

26. 150 mi

27. 300 mi

28. 425 mi

29. Graph: P’(5, -4), Q’(3, 0), R’(1, -3)

30. a) Graph: A’(2, 6), B’(5, 2), C’(1, 4) and A”(2, -6), B”(5, -2), C”(1, -4)   b) No. Sample answer: In the original order, the transformations are (x, y) → (y, -x) → (y, x). In reverse order, the transformations are (x, y) → (x, -y) → (-y, -x), so the image ΔA”B”C” has coordinates A”(-2, 6), B”(-5, 2), C”(-1, 4), which are not the same as those of the original image.

